
Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 1/24

Panel #EX2 Length: 16' 0" Height: 8' 1-1/8" First Stud Face @9' 11-1/4" (2' 0" o.c.) Diagonal: 17' 10-1/2"

16' 0"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 11-3/8"

6' 1"
X

5' 1"

1' 10-3/8"

(2) 2x10
1' 10-3/4"

1' 10-3/4"

2
' 0

-1
/2

"

8
' 1

0
-1

/2
"

W3

Top Plates: 2x4 SPF  #2 16' 0" Bottom Plates: 2x4 SPF  #2 16' 0"

Studs: (5) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

W3 (6' 11-3/8") 2' 0-1/2" 8' 10-1/2"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 2/24

Panel #EX3 Length: 7' 11-15/16" Height: 8' 1-1/8" Diagonal: 11' 3-7/16"

7' 11-15/16"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 11-3/8"

5' 1"
X

2' 1"

4' 10-3/8"

(2) 2x10
10-11/16"

10-11/16"

1
' 0

-1
/2

"

6
' 1

0
-1

/2
"

W2

Top Plates: 2x4 SPF  #2 7' 11-15/16" Bottom Plates: 2x4 SPF  #2 7' 11-15/16"

Studs: (2) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

W2 (6' 11-3/8") 1' 0-1/2" 6' 10-1/2"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 3/24

Panel #EX7 Length: 8' 0" Height: 8' 1-1/8" First Stud Face @1' 11-1/4" (2' 0" o.c.) Diagonal: 11' 3-1/2"

8' 0"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

Top Plates: 2x4 SPF  #2 8' 0" Bottom Plates: 2x4 SPF  #2 8' 0"

Studs: (5) 2x4 SPF  #2 7' 8-5/8"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 4/24

Panel #EX4 Length: 8' 0" Height: 8' 1-1/8" First Stud Face @3' 11-1/4" (2' 0" o.c.) Diagonal: 11' 3-1/2"

8' 0"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

(2) 2x6

1' 9-1/4"

2
"

3
' 9

"

D1

Top Plates: 2x4 SPF  #2 8' 0" Bottom Plates: 2x4 SPF  #2 8' 0"

Studs: (4) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

D1 (6' 9-1/2") 2" 3' 9"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 5/24

Panel #EX5 Length: 16' 0-15/16" Height: 8' 1-1/8" First Stud Face @2' 0-3/16" (2' 0" o.c.) Diagonal: 17' 11-5/16"

16' 0-15/16"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 11-1/8"

9' 1"
X

5' 1"

1' 10-1/8"

(2) 1.75x9.5
4-11/16"

2' 4-11/16"

5
' 7

-1
/2

"

1
5

' 5
-1

/2
"

W1

Top Plates: 2x4 SPF  #2 16' 0-15/16" Bottom Plates: 2x4 SPF  #2 16' 0-15/16"

Studs: (4) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

W1 (6' 11-1/8") 5' 7-1/2" 15' 5-1/2"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 6/24

Panel #EX8 Length: 16' 0-15/16" Height: 8' 1-1/8" First Stud Face @2' 0-3/16" (2' 0" o.c.) Diagonal: 17' 11-5/16"

16' 0-15/16"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 9-7/8"

6' 1"
X

6' 9-7/8"

(2) 2x10

10-11/16"

7
' 1

-1
/2

"

1
3

' 1
1

-1
/2

"

D2

Top Plates: 2x4 SPF  #2 16' 0-15/16" Bottom Plates: 2x4 SPF  #2 16' 0-15/16"

Studs: (6) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

D2 (6' 9-7/8") 7' 1-1/2" 13' 11-1/2"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 7/24

Panel #EX9 Length: 12' 0" Height: 8' 1-1/8" First Stud Face @1' 11-1/4" (2' 0" o.c.) Diagonal: 14' 4-7/8"

12' 0"
7

' 8
-5

/8
"

7
' 1

1
-5

/8
"

6' 11-3/8"

5' 1"
X

2' 1"

4' 10-3/8"

(2) 2x10
9-3/4"

9-3/4"

5
' 1

-1
/2

"

1
0

' 1
1

-1
/2

"

W2

Top Plates: 2x4 SPF  #2 12' 0" Bottom Plates: 2x4 SPF  #2 12' 0"

Studs: (4) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

W2 (6' 11-3/8") 5' 1-1/2" 10' 11-1/2"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 8/24

Panel #EX10 Length: 11' 11-15/16" Height: 8' 1-1/8" First Stud Face @1' 11-3/16" (2' 0" o.c.) Diagonal: 14' 4-13/16"

11' 11-15/16"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 11-3/8"

3' 1"
X

5' 1"

1' 10-3/8"

(2) 2x10
8-3/16"

8-3/16"

5
' 3

"

8
' 1

0
"

W6

Top Plates: 2x4 SPF  #2 11' 11-15/16" Bottom Plates: 2x4 SPF  #2 11' 11-15/16"

Studs: (5) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

W6 (6' 11-3/8") 5' 3" 8' 10"



Panel Production
5/13/2024

Bundle #1

Default 20x49 WY PROJECT 9/24

Panel #EX1 Length: 20' 0" Height: 8' 1-1/8" First Stud Face @0" (2' 0" o.c.) Diagonal: 21' 6-3/8"

20' 0"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 11-3/8"

5' 1"
X

2' 1"

4' 10-3/8"

(2) 2x10
1' 10-5/8"

1' 10-5/8"

6' 11-3/8"

2' 1"
X

5' 1"

1' 10-3/8"

(2) 2x10
3-1/4"

1
-1

/2
"

4
"

7
"

1
' 8

"

4
' 3

"

1
2

' 0
-5

/8
"

1
7

' 7
-5

/8
"

1
9

' 5
"

1
9

' 8
"

1S2SW5W42S

Top Plates: 2x4 SPF  #2 20' 0" Bottom Plates: 2x4 SPF  #2 20' 0"

Studs: (5) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

(1) 2x4 SPF  #2 @ Start 1-1/2"

2S 4" 7"

W4 (6' 11-3/8") 1' 8" 4' 3"

W5 (6' 11-3/8") 12' 0-5/8" 17' 7-5/8"

2S 19' 5" 19' 8"



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 10/24

Panel #17 Length: 12' 11" Height: 9' 8-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 16' 0-3/4"

12' 11"
9

' 3
-5

/8
"

9
' 6

-5
/8

"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

7-1/2"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

9"

1
' 1

1
-3

/4
"

5
' 6

-3
/4

"

7
' 4

-7
/8

"

8
' 1

-5
/8

"

8
' 6

-1
/4

"

1
2

' 1
-1

/4
"

1
2

' 4
"

ID1 2x8 L ID1 2X6 L

Top Plates: 2x4 SPF  #2 12' 11" Bottom Plates: 2x4 SPF  #2 12' 11"

Studs: (3) 2x4 SPF  #2 9' 3-5/8"

Components & Subcomponents Start End

ID1 (6' 8") 1' 11-3/4" 5' 6-3/4"

2x8 L (2x8 Up) 7' 4-7/8" 8' 1-5/8"

ID1 (6' 8") 8' 6-1/4" 12' 1-1/4"

2X6 L (2x6 Up) 12' 4" @ End



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 11/24

Panel #19 Length: 12' 11" Height: 9' 8-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 16' 0-3/4"

12' 11"
9

' 3
-5

/8
"

9
' 6

-5
/8

"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

7-1/2"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

9"

1
' 1

1
-3

/4
"

5
' 6

-3
/4

"

7
' 4

-7
/8

"

8
' 1

-5
/8

"

8
' 6

-1
/4

"

1
2

' 1
-1

/4
"

1
2

' 4
"

ID1 2x8 L ID1 2X6 L

Top Plates: 2x4 SPF  #2 12' 11" Bottom Plates: 2x4 SPF  #2 12' 11"

Studs: (3) 2x4 SPF  #2 9' 3-5/8"

Components & Subcomponents Start End

ID1 (6' 8") 1' 11-3/4" 5' 6-3/4"

2x8 L (2x8 Dn) 7' 4-7/8" 8' 1-5/8"

ID1 (6' 8") 8' 6-1/4" 12' 1-1/4"

2X6 L (2x6 Dn) 12' 4" @ End



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 12/24

Panel #18 Length: 7' 6-1/2" Height: 11' 4-3/16" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 6-1/4"

7' 6-1/2"

1
0

' 1
1

-1
1

/1
6

"

1
1

' 2
-1

1
/1

6
"

Top Plates: 2x4 SPF  #2 7' 6-1/2" Bottom Plates: 2x4 SPF  #2 7' 6-1/2"

Studs: (7) 2x4 SPF  #2 10' 11-11/16"



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 13/24

Panel #14 Length: 7' 11-15/16" Height: 8' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 11' 3-7/16"

7' 11-15/16"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

1' 3-1/4"

3
' 5

-1
/2

"

3
' 1

0
-1

/2
"

ID1 2X4 L

Top Plates: 2x4 SPF  #2 7' 11-15/16" Bottom Plates: 2x4 SPF  #2 7' 11-15/16"

Studs: (3) 2x4 SPF  #2 7' 8-5/8"

Components & Subcomponents Start End

ID1 (6' 8") @ Start 3' 5-1/2"

2X4 L (2x4 Up) 3' 5-1/2" 3' 10-1/2"



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 14/24

Panel #15 Length: 7' 3-3/4" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 9-13/16"

7' 3-3/4"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

Top Plates: 2x4 SPF  #2 7' 3-3/4" Bottom Plates: 2x4 SPF  #2 7' 3-3/4"

Studs: (7) 2x4 SPF  #2 7' 8-5/8"



Panel Production
5/13/2024

Bundle #2

Default 20x49 WY PROJECT 15/24

Panel #21 Length: 4' 7-1/2" Height: 12' 0-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 9-1/16"

4' 7-1/2"

1
1

' 7
-5

/8
"

1
1

' 1
0

-5
/8

"

Top Plates: 2x4 SPF  #2 4' 7-1/2" Bottom Plates: 2x4 SPF  #2 4' 7-1/2"

Studs: (5) 2x4 SPF  #2 11' 7-5/8"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 16/24

Panel #16 Length: 9' 4-3/4" Height: 8' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 12' 3-13/16"

9' 4-3/4"

7
' 8

-5
/8

"

7
' 1

1
-5

/8
"

Top Plates: 2x4 SPF  #2 9' 4-3/4" Bottom Plates: 2x4 SPF  #2 9' 4-3/4"

Studs: (8) 2x4 SPF  #2 7' 8-5/8"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 17/24

Panel #12 Length: 11' 0-15/16" Height: 11' 11-3/16" First Stud Face @4' 4-3/16" (1' 4" o.c.)

1' 6-7/16"

1' 8"
5

9' 6-1/2"

10' 4-1/16"

5

11' 0-15/16"

1
1

' 3
-1

/2
"

7
' 1

1
-1

/2
"

1
1

' 1
1

-3
/1

6
"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

4-3/16"
3

' 7
"

3
' 8

"

4
' 3

"

7
' 8

"

8
' 3

"

9
' 3

"

9
' 1

0
"

2X6 L2X6 L2X6 LID1



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 18/24

Top Plates: 2x6 SPF  #2 1' 8-5/8" 22.6 \ Rk \ -22.6 Bottom Plates: 2x6 SPF  #2 11' 0-15/16"

2x6 SPF  #2 10' 4-11/16" -22.6 / Rk / 22.6

Piece Type Length (Long Point) Material Start End

Stud 7' 9" 2x6 SPF  #2 | Rake / 22.6 0" 1-5/8"

Header Cripple 1' 0-1/8" 2x6 SPF  #2 | Rake / 22.6 1-5/8" 3-1/4"

Header Cripple 1' 1-1/4" 2x6 SPF  #2 | Rake / 22.6 4-9/16" 6-3/16"

Header Cripple 1' 7-7/8" 2x6 SPF  #2 | Rake / 22.6 1' 9-7/8" 1' 11-1/2"

Header Cripple 2' 2-9/16" 2x6 SPF  #2 | Rake / 22.6 3' 3-3/16" 3' 4-13/16"

Header Cripple 2' 4-1/8" 2x6 SPF  #2 | Rake / 22.6 3' 7-5/16" 3' 8-15/16"

Stud 9' 2-1/4" 2x6 SPF  #2 | Rake / 22.6 3' 8-15/16" 3' 10-9/16"

Stud 9' 5" 2x6 SPF  #2 | Skew \ 22.6 3' 11-11/16" 4' 5-5/8"

Stud 9' 5-5/8" 2x6 SPF  #2 | Rake / 22.6 4' 5-5/8" 4' 7-1/4"

Stud 9' 6-3/4" 2x6 SPF  #2 | Rake / 22.6 4' 8-9/16" 4' 10-3/16"

Stud 10' 1-3/8" 2x6 SPF  #2 | Rake / 22.6 6' 1-7/8" 6' 3-1/2"

Stud 10' 8-1/16" 2x6 SPF  #2 | Rake / 22.6 7' 7-3/16" 7' 8-13/16"

Stud 11' 1" 2x6 SPF  #2 | Skew \ 22.6 8' 3-11/16" 8' 9-5/8"

Stud 11' 1-5/8" 2x6 SPF  #2 | Rake / 22.6 8' 9-5/8" 8' 11-1/4"

Stud 11' 2-3/4" 2x6 SPF  #2 | Rake / 22.6 9' 0-9/16" 9' 2-3/16"

Stud 11' 8-1/16" 2x6 SPF  #2 180 / Skew / -157.4 10' 0-1/4" 10' 4-1/16"

Stud 11' 7-1/4" 2x6 SPF  #2 | Rake \ -22.6 2-13/16" 4-7/16"

Stud 11' 1" 2x6 SPF  #2 | Rake \ -22.6 1' 7" 1' 8-5/8"

Components & Subcomponents Start End

ID1 (6' 8") @ Start 3' 7"

2X6 L (2x6 Up) 3' 8" 4' 3"

2X6 L (2x6 Up) 7' 8" 8' 3"

2X6 L (2x6 Dn) 9' 3" 9' 10"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 19/24

Panel #11 Length: 8' 0" Height: 11' 3-1/2" First Stud Face @1' 3-1/4" (1' 4" o.c.)

8' 8"

5

8' 0"

7
' 1

1
-1

/2
"

1
1

' 3
-1

/2
"

6' 9-1/2"

3' 1"
X

6' 9-1/2"

10-1/4"

3
' 9

"

4
' 4

"
4

' 5
"

ID12X6 L

Top Plates: 2x6 SPF  #2 8' 8-5/8" 22.6 \ Rk \ -22.6 Bottom Plates: 2x6 SPF  #2 8' 0"

Piece Type Length (Long Point) Material Start End

Stud 11' 0-3/8" 2x6 SPF  #2 | Rake \ -22.6 5/8" 2-1/4"

Stud 10' 6" 2x6 SPF  #2 | Rake \ -22.6 1' 5-1/8" 1' 6-3/4"

Stud 9' 11-3/8" 2x6 SPF  #2 | Rake \ -22.6 2' 10-1/2" 3' 0-1/8"

Stud 9' 5-5/8" 2x6 SPF  #2 | Skew / -22.6 4' 1-3/8" 4' 7-5/16"

Stud 9' 3-5/16" 2x6 SPF  #2 | Rake \ -22.6 4' 7-5/16" 4' 8-15/16"

Stud 9' 2-5/16" 2x6 SPF  #2 | Rake \ -22.6 4' 10-1/16" 4' 11-11/16"

Header Cripple 2' 4-3/16" 2x6 SPF  #2 | Rake \ -22.6 4' 11-11/16" 5' 1-5/16"

Header Cripple 2' 0-1/2" 2x6 SPF  #2 | Rake \ -22.6 5' 9-1/8" 5' 10-3/4"

Header Cripple 1' 5-7/8" 2x6 SPF  #2 | Rake \ -22.6 7' 2-1/2" 7' 4-1/8"

Header Cripple 1' 0-1/8" 2x6 SPF  #2 | Rake \ -22.6 8' 5-3/8" 8' 7"

Stud 7' 9" 2x6 SPF  #2 | Rake \ -22.6 8' 7" 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 3' 9" 4' 4"

ID1 (6' 8") 4' 5" @ End



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 20/24

Panel #13 Length: 10' 10-1/2" Height: 12' 0-13/16" First Stud Face @1-3/4" (1' 4" o.c.)

5' 5-1/4"

5' 10-11/16"

5

5' 5-1/4"

5' 10-11/16"

5

10' 10-1/2"

9
' 8

"

9
' 8

"1
1

' 1
1

-3
/1

6
"

3
' 6

-3
/4

"

4
' 1

-3
/4

"

5
' 1

-3
/4

"

5
' 8

-3
/4

"

2X6 L2X6 L

Top Plates: 2x6 SPF  #2 5' 11-5/16" 22.6 \ Rk \ -22.6 Bottom Plates: 2x6 SPF  #2 10' 10-1/2"

2x6 SPF  #2 5' 11-5/16" -22.6 / Rk / 22.6

Piece Type Length (Long Point) Material Start End

Stud 9' 5-1/2" 2x6 SPF  #2 | Rake / 22.6 0" 1-5/8"

Stud 9' 6-1/4" 2x6 SPF  #2 | Rake / 22.6 1-7/8" 3-1/2"

Stud 10' 0-7/8" 2x6 SPF  #2 | Rake / 22.6 1' 7-1/4" 1' 8-7/8"

Stud 10' 7-9/16" 2x6 SPF  #2 | Rake / 22.6 3' 0-9/16" 3' 2-3/16"

Stud 11' 1" 2x6 SPF  #2 | Skew \ 22.6 3' 10-5/16" 4' 4-1/4"

Stud 11' 1-5/8" 2x6 SPF  #2 | Rake / 22.6 4' 4-1/4" 4' 5-7/8"

Stud 11' 2-1/4" 2x6 SPF  #2 | Rake / 22.6 4' 5-7/8" 4' 7-1/2"

Stud 11' 8-1/16" 2x6 SPF  #2 180 / Skew / -157.4 5' 6-7/8" 5' 10-11/16"

Stud 11' 7-1/4" 2x6 SPF  #2 | Rake \ -22.6 2-13/16" 4-7/16"

Stud 11' 1-3/16" 2x6 SPF  #2 | Rake \ -22.6 1' 6-1/2" 1' 8-1/8"

Stud 10' 6-1/2" 2x6 SPF  #2 | Rake \ -22.6 2' 11-13/16" 3' 1-7/16"

Stud 9' 11-7/8" 2x6 SPF  #2 | Rake \ -22.6 4' 5-3/16" 4' 6-13/16"

Stud 9' 5-1/2" 2x6 SPF  #2 | Rake \ -22.6 5' 9-11/16" 5' 11-5/16"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 21/24

Components & Subcomponents Start End

2X6 L (2x6 Dn) 3' 6-3/4" 4' 1-3/4"

2X6 L (2x6 Up) 5' 1-3/4" 5' 8-3/4"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 22/24

Panel #20 Length: 10' 10-1/2" Height: 12' 0-13/16" First Stud Face @1' 3-1/4" (1' 4" o.c.)

5' 5-1/4"

5' 10-11/16"

5

5' 5-1/4"

5' 10-11/16"

5

10' 10-1/2"

9
' 8

"

9
' 8

"1
1

' 1
1

-3
/1

6
"

5
' 1

-3
/4

"

5
' 8

-3
/4

"

2X6 L

Top Plates: 2x4 SPF  #2 5' 11-5/16" -22.6 / Rk / 22.6 Bottom Plates: 2x4 SPF  #2 10' 10-1/2"

2x4 SPF  #2 5' 11-5/16" 22.6 \ Rk \ -22.6

Piece Type Length (Long Point) Material Start End

Stud 9' 5-1/2" 2x4 SPF  #2 | Rake \ -22.6 0" 1-5/8"

Stud 9' 11-7/8" 2x4 SPF  #2 | Rake \ -22.6 1' 4-1/2" 1' 6-1/8"

Stud 10' 6-1/2" 2x4 SPF  #2 | Rake \ -22.6 2' 9-7/8" 2' 11-1/2"

Stud 11' 1-3/16" 2x4 SPF  #2 | Rake \ -22.6 4' 3-3/16" 4' 4-13/16"

Stud 11' 7-1/4" 2x4 SPF  #2 | Rake \ -22.6 5' 6-7/8" 5' 8-1/2"

Stud 11' 8-1/16" 2x6 SPF  #2 180 / Skew / -157.4 5/8" 4-7/16"

Stud 11' 2-1/4" 2x4 SPF  #2 | Rake / 22.6 1' 3-13/16" 1' 5-7/16"

Stud 10' 7-9/16" 2x4 SPF  #2 | Rake / 22.6 2' 9-1/8" 2' 10-3/4"

Stud 10' 0-7/8" 2x4 SPF  #2 | Rake / 22.6 4' 2-7/16" 4' 4-1/16"

Stud 9' 5-1/2" 2x4 SPF  #2 | Rake / 22.6 5' 9-11/16" 5' 11-5/16"

Components & Subcomponents Start End

2X6 L (2x6 Up) 5' 1-3/4" 5' 8-3/4"



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 23/24

Panel #EX6 Length: 20' 0" Height: 12' 0-13/16" First Stud Face @5' 11-1/4" (2' 0" o.c.) Diagonal: 21' 6-3/8"

5-1/2"9' 6-1/2"

10' 4-1/16"

5

9' 6-1/2"

10' 4-1/16"

5

5-1/2"
20' 0"

7
' 1

1
-5

/8
"

7
' 1

1
-5

/8
"

1
1

' 1
1

-3
/1

6
" 6' 11-3/8"

2' 1"
X

5' 1"

1' 10-3/8"

(2) 2x10

6' 11-3/8"

2' 1"
X

5' 1"

1' 10-3/8"

(2) 2x10

1
' 8

-1
/2

"

4
' 3

-1
/2

"

1
5

' 8
-1

/2
"

1
8

' 3
-1

/2
"

W4W4



Panel Production
5/13/2024

Bundle #3

Default 20x49 WY PROJECT 24/24

Top Plates: (2) 2x4 SPF  #2 5-1/2" Bottom Plates: 2x4 SPF  #2 20' 0"

2x4 SPF  #2 10' 4-11/16" 22.6 \ Rk \ -22.6

2x4 SPF  #2 10' 4-11/16" -22.6 / Rk / 22.6

Piece Type Length (Long Point) Material Start End

Stud 7' 8-5/8" 2x4 SPF  #2 0" 1-1/2"

Stud 7' 8-5/8" 2x4 SPF  #2 4" 5-1/2"

Stud 7' 9" 2x4 SPF  #2 | Rake / 22.6 0" 1-5/8"

Stud 8' 3-1/4" 2x4 SPF  #2 | Rake / 22.6 1' 4-1/4" 1' 5-7/8"

Header Cripple 7-1/4" 2x4 SPF  #2 | Rake / 22.6 1' 5-7/8" 1' 7-1/2"

Header Cripple 1' 6-5/16" 2x4 SPF  #2 | Rake / 22.6 3' 10-9/16" 4' 0-3/16"

Stud 9' 3-9/16" 2x4 SPF  #2 | Rake / 22.6 4' 0-3/16" 4' 1-13/16"

Stud 10' 0-3/8" 2x4 SPF  #2 | Rake / 22.6 5' 11-1/4" 6' 0-7/8"

Stud 10' 10-3/8" 2x4 SPF  #2 | Rake / 22.6 8' 1-1/4" 8' 2-7/8"

Stud 11' 8-1/16" 2x4 SPF  #2 | Rake / 22.6 10' 2-7/16" 10' 4-1/16"

Stud 11' 8-1/16" 2x4 SPF  #2 | Rake \ -22.6 5/8" 2-1/4"

Stud 10' 10-3/8" 2x4 SPF  #2 | Rake \ -22.6 2' 1-13/16" 2' 3-7/16"

Stud 10' 0-3/8" 2x4 SPF  #2 | Rake \ -22.6 4' 3-13/16" 4' 5-7/16"

Stud 9' 3-9/16" 2x4 SPF  #2 | Rake \ -22.6 6' 2-13/16" 6' 4-7/16"

Header Cripple 1' 6-5/16" 2x4 SPF  #2 | Rake \ -22.6 6' 4-7/16" 6' 6-1/16"

Header Cripple 7-1/4" 2x4 SPF  #2 | Rake \ -22.6 8' 9-3/16" 8' 10-13/16"

Stud 8' 3-1/4" 2x4 SPF  #2 | Rake \ -22.6 8' 10-13/16" 9' 0-7/16"

Stud 7' 9" 2x4 SPF  #2 | Rake \ -22.6 10' 3-1/16" 10' 4-11/16"

Stud 7' 8-5/8" 2x4 SPF  #2 0" 1-1/2"

Stud 7' 8-5/8" 2x4 SPF  #2 4" 5-1/2"

Components & Subcomponents Start End

W4 (6' 11-3/8") 1' 8-1/2" 4' 3-1/2"

W4 (6' 11-3/8") 15' 8-1/2" 18' 3-1/2"


